


SECTION - A

Question numbers 1 to 10 carry 1 mark each. For each of the questions 1 to 10, four
alternative choices have been provided of which only one is correct. You have to
select the correct choice.

1. Linear equation in one variable is -: N
(A) 2x=y (B) y*=3y+5
(C) 4x — y 5 (D) 3t+5=9t-7

2. Graph of the equahon 2x+3y=9 cuts y axis at the point :
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3. In a quadrilateral ABCD, diagonals bisect each other at right angles. Also.
AB=BC=AD=6cm, then length of CD is :

(A) 3. cm _ (B) 6 cm (© 6x/§v cm | (D) 12 cm

4. ‘In an equllateral tr1angle ABC D and E are the mid pom’cs of s1des AB and AC
. respectively. Then length of DE is : Co

(A) . Not possible to find | (B) 3cm
1 3
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5. Infigure, PQRSis a parallelogram, PM LRS and RN_LPS fPQ= 12cm PM= 6cm and .
RN =8cm then the length of PSis equal to :

P B Q
N/
ST M
(A) 18 cm V,./’(B)’ 9 em (C) 4cm (D) 12 cm

6. -In the figure, O is the centre of the circle with £ AOB=85° and £ AOC=115° then
£BACis: : : :

(A) 115° B) 85° © s (D) 100°
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